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26-076/77 gfoj dxfk|jGws 11 3 1 >L lji0f'/fd Gof}kfg] 77.74

27-076/77 lgb]{zs k|f= OlGhlgol/ª OOs 10 1 1 >L lrGtfdl0f a/fn 81.21

28-076/77 lgb]{zs k|f= ;dfrf/ 10 1 1 >L dgf]xl/ yfkf 76.82

29-076/77 lgb]{zs k|f= 10 1 1 >L ;'/h yfkf 68.68

30-076/77 lgb]{zs k|= k|zf;g 10 1 1 >L /fhs'df/ yfkf 64.51

31-076/77 lgb]{zs k|= cf=k|zf;g 10 1 1 >L z/brGb| >]i7 54.19

32-076/77 lgb]{zs k|= 10 1 o; ;"rgfsf Ps dfq ;DefJo pDd]bjf/
lj=g+= #) df l;kmfl/; ePsf] .

33-076/77 lgb]{zs k|f= ck/]zg 10 1 b/vf:t gk/]sf]

34-076/77 lgb]{zs k|f= sfo{qmd 10 1 b/vf:t gk/]sf]

35-076/77 k|d'v n]vf clws[t k|= cf=k|zf;g 9 2 1 >L kjgs'df/ df08Jo 86.41

36-076/77 k|d'v ;dfrf/
;Dkfbs

k|f= ;dfrf/ 9 2 1 >L k'ikxl/ SofDkf/fO{{ 88.60

2 >L /]jGtaxfb'/ cf]nL 84.16

37-076/77 k|d'v OlGhlgo/ k|f= OlGhlgol/ª OOs 9 1 1 >L /ljGb|/fh k/fh'nL 83.52

38-076/77 k|d'v Sofd/fDofg k|f= sfo{qmd 5fofÍg÷k|sfz 9 1 1 >L d's]z >]i7 75.71

39-076/77 k|d'v b[Zo ;Dkfbs k|f= ck/]zg b[Zo ;Dkfbg 9 2 1 >L /f]zgfb]jL t'nfw/ 62.34

40-076/77 k|d'v lgdf{tf k|f= sfo{qmd lgdf{0f 9 3 1 >L ljhos'df/ adf{ 65.73

2 >L gLtf ;fksf]6f 63.13

41-076/77 k|d'v k|zf;g clws[t k|= k|zf;g 9 1 b/vf:t gk/]sf]

42-076/77 sfo{sf/L b[Zo
;Dkfbs

k|f= ck/]zg b[Zo ;Dkfbs 8 2 1 >L ;Demgf sdf{rfo{ 83.57

2 >L ldl>nfn ofbj 73.68

43-076/77 sfo{sf/L ;dfrf/
;Dkfbs

k|f= ;dfrf/ 8 3 1 >L /fdk|;fb e08f/L 85.10

2 >L lg/fhg vgfn 84.60

3 >L dbgk|;fb cfrfo{ 84.57

44-076/77 sfo{sf/L OlGhlgo/ k|f= OlGhlgol/ª OOs 8 2 1 >L ljh]Gb|k|;fb u'Ktf 83.07

2 >L ;'lgns'df/ >]i7 80.23

45-076/77 sfo{sf/L lgdf{tf k|f= sfo{qmd lgdf{0f 8 4 1 >L ;+uLtf kGt yfkf 85.57

2 >L lbks cfrfo{ 60.97

46-076/77 sfo{sf/L k|zf;g
clws[t

k|= k|zf;g 8 2 1 >L ;b]z/fd rf}w/L 73.27



2 >L Zofd 9sfn 72.43

47-076/77 sfo{sf/L n]vf clws[t k|= cf=k|zf;g 8 1 1 >L of]u/fh kf}8]n 73.76

48-076/77 sfo{sf/L Wjlg
lgoGqs

k|f= sfo{qmd Wjlg 8 1 1 >L clgn lji6 72.18

49-076/77 sfo{sf/L Sofd/fDofg k|f= sfo{qmd 5fofÍg÷k|sfz 8 2 1 >L c/ljGb cfrfo{ 76.01

2 >L a;Gts'df/ ?kfv]tL 65.51

50-076/77 sfo{sf/L Jofkf/
k|j4{s

k|= Jofkf/ 8 1 1 >L ;'/]Gb|axfb'/ a:g]t 71.98

51-076/77 jl/i7 ;dfrf/
;Dkfbs

k|f= ;dfrf/ 7 4 1 >L lzjfgL yfkf 82.08

2 >L b]jLk|;fb ;fksf]6f 79.83

3 >L lzIff e§/fO{ 79.14

4 >L ;'eb|f uf}td 75.80

52-076/77 jl/i7 Wjlg lgoGqs k|f= sfo{qmd Wjlg 7 2 1 >L ef]h/fh a8" 76.46

2 >L cldts'df/ adf{ 73.04

53-076/77 OlGhlgo/ k|f= OlGhlgol/ª OOs 7 1 1 >L ljZj]Zj/ kf}8]n 78.79

54-076/77 jl/i7 Jofkf/ k|j4{s k|= Jofkf/ 7 2 1 >L 6Lsf 9sfn 77.07

55-076/77 jl/i7 k|zf;g clws[t k|= k|zf;g 7 3 1 >L u+ufk|;fb vltj8f 75.52

2 >L 6'ons'df/ clwsf/L 75.29

3 >L /d]z gflunf 69.71

56-076/77 jl/i7 b[Zo ;Dkfbs k|f= ck/]zg b[Zo ;Dkfbg 7 2 1 >L ;Gtf]if v8\sf 65.36

2 >L df]xgs'df/ l;+x 64.96

57-076/77 jl/i7 Sofd/fDofg k|f= sfo{qmd 5fofÍg÷k|sfz 7 2 1 >L z+s/s'df/ a'9fyf]sL 67.21

2 >L k|sfz dxt 66.75

58-076/77 jl/i7 n]vf clws[t k|= cf=k|zf;g 7 2 1 >L lbg]z kf}8]n 70.81

2 >L x]dk|;fb l3ld/] 60.57

59-076/77 jl/i7 lgdf{tf k|f= sfo{qmd lgdf{0f 7 2 b/vf:t gk/]sf]

60-076/77 k|fljlws clws[t k|f= OlGhlgol/ª OOs 6 2 1 >L ;'Gb/nfn rf}w/L 81.99

2 >L pd]zxl/ cfrfo{ 79.88

61-076/77 Sofd/fDofg -k;{g_ k|f= sfo{qmd 5fofÍg÷k|sfz 6 1 1 >L lzj k+u]gL 77.06

62-076/77 b[Zo ;Dkfbs k|f= ck/]zg b[Zo ;Dkfbg 6 1 1 >L afl6sf /f0ff 76.06

63-076/77 n]vf clws[t k|= cf=k|zf;g 6 1 1 >L sljtf 9'Ëfgf 72.82

64-076/77 Wjlg lgoGqs k|f= sfo{qmd Wjlg 6 1 1 >L :j]tf yfkf 78.69

65-076/77 k|zf;g clws[t k|= k|zf;g 6 1 1 >L lbnLks'df/ cf]emf 75.90

66-076/77 jl/i7 ;xfos
k|fljlws

k|f= OlGhlgol/ª OOs 5 7 1 >L wgaxfb'/ v8\sf 80.17

2 >L 6Lsf/fd e08f/L 79.92

3 >L /fddfg >]i7 78.83

4 >L uf}/j af]u6L 78.27

5 >L c/ljGbs'df/ ofbj 75.83

6 >L /fh' If]qL 74.78

7 >L ;'lgtf zdf{ 74.64

67-076/77 jl/i7 ;xfos k|zf;g k|= k|zf;g 5 3 1 >L ;GWof kf}8]n cfrfo{ 66.46

2 >L sl/Zdf sj/ 61.43

3 >L b]jfgl;+x k'g 59.43

68-076/77 jl/i7 ;xfos n]vf k|= cf=k|zf;g 5 1 1 >L k|ef e08f/L 60.81

;b:o ;lrj, kbk"lt{ ;ldlt


